gbobobz201400000

S24a, AGNOOOOOOOOOoOoooooooooo II.
00 00 (0000),0000(0000), 00000 (0000)

OD00O0O0OO0AGNOOOOODOODOOODOOOOODOOODAGNDOOOOOOOOOOOOOOODOODOOODOn
000000000 (U = Lyg/(Arreny)) 000000 (Wg =2ra/ls; 0000rq 000000000001
0 HIOOODO Strémgren length) 0000000000000 3000000000000100000000
0000000030000000000000201300000000 (S01a)000000100000000
00000000000000000

D000000000000000000000000000000000000000000000000
0000000000000000000N;OOOOOOON;O000000O0O0000O0000000000
000000000000 00000000000000000000000000000000000000
000000000000 00000000000000000000000000000000000000
000000000000 00000000000000000000000000000000000000
000000000000 00000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000
000000000000 000000000000000000000000000

0000000000 00000000000000000000000000000000000000
O000000000O000AGNOOOCOODOOD 100000000000000000000000000
000000000000000000000000



